Was ist die Fehlerursache?

Lerner
realisieren
den Laut
beim
Vorlesen
falsch

ja

nein

Lerner
realisieren
den Laut
beim
Nachsprechen
falsch

ja

nein

Lerner kbnnen
Laut im
Minimalpaar
richtig
diskriminieren

Orthographische
Interferenz oder
lexikalische
Interferenz oder
Problem der
unbekannten
phonologischen
Regel?

ja

nein

In freier
Sprache
wird
Laut
falsch

realisiert

Artikulatorisches
Problem

Perzeptorisches
Problem

ja

nein

Das Wort ja
existiert im
Deutschen oder

ist einem

deutschen Wort
sehr dhnlich.

nein

Orthographische
Interferenz:
Lerner lesen
nach deutschen
Regeln

Lexikalische
Interferenz:
Lerner
Ubertragen
die
Aussprache
aus dem
Deutschen

Phonologische
Regel ist nicht
bekannt.



